
 3501361318560 NORAUTO Slim 100-5 NO1018

Code EAN Code ATU Beschreibung Photo

1 3501367069114 0
Fahrradrahmenbefestigung 
und Knopf

2 3501367068285 0 Rahmenbefestigungsknopf

3 3501367068063 0 Rahmengestellgurt

4 3501363212477 0 Rahmenhalter-Befestigung

5 3501367068308 0 Schweißabdeckung

6 3501367068261 0 Knopfbefestigung

7 3501367069213 0 M10 x 73 mm Knopf



 3501361318560 NORAUTO Slim 100-5 NO1018

8 3501367069237 0 Schutzspitze

9 3501367068636 0 Schraubkappe

10 3501367068469 0 M12 x 70 mm Bolzen

11 3501367068865 0 13,5 Unterlegkeil

12 3501367068742 0 M12 Mutter

13 3501367069190 0 M10 x 81 mm Knopf

14 3501367068735 NOEA26 M10 Mutter

15 3501367068322 0 Schutzmontageschlüssel

16 3501367069107 0 Montageschlüssel

17 3501367069145 0 Fahrradträger-Gurt

3501361197820 NOEA58 K001 Trommel
3501361197837 NOEA59 K002 Trommel
3501361197844 NOEA60 K003 Trommel
3501361197851 NOEA61 K004 Trommel

18



 3501361318560 NORAUTO Slim 100-5 NO1018

3501361197868 NOEA62 K005 Trommel

3501361197875 NOEA63 K006 Trommel
3501361197882 NOEA64 K007 Trommel
3501361197899 NOEA65 K008 Trommel
3501361197905 NOEA66 K009 Trommel
3501361197912 NOEA67 K010 Trommel
3501361198155 NE0056 K001 Schlüssel
3501361198162 NE0057 K002 Schlüssel
3501361198179 NE0058 K003 Schlüssel
3501361198186 NE0059 K004 Schlüssel
3501361198193 NE0060 K005 Schlüssel
3501361198209 NE0061 K006 Schlüssel
3501361198216 NE0062 K007 Schlüssel
3501361198223 NE0063 K008 Schlüssel
3501361198230 NE0064 K009 Schlüssel
3501361198247 NE0065 K010 Schlüssel

20 3501361210819 NE0050
Zughaken-Knopf-
Steckverbinder

21 3501361210826 NE0051
Zughaken-Griff ohne 
Trommel

22

18

19



 3501361318560 NORAUTO Slim 100-5 NO1018



 3501361318560 NORAUTO Slim 100-5 NO1018



 3501361318560 NORAUTO Slim 100-5 NO1018


